MEEEIS121 EER(TA17~23BEED)

EREAE 2018/06/21 ~
7/17-23
=40 B2 BREMTE
1o mmm [S00 i
AR EIEES
R CRE) =R HR(PE)F | JL551 B 30.400 35% . H:29.100
JL553 30,600
JL555 20,900
JL557 20,900
JENTES JL562 21,300
JL554 21,000
JL556 30,500
JL558 21,100
R CRR)=HE HR(OPE)H | _JL277 25,200
JL279 500
JL283 300
JL285 300
JL287 900
HER JL276 3,500
JL278 26,800
JL280 24,300
JL284 27.900
JL286 27.900
R CRE) =K% RRCRE) R |_JL661 25,400
JL663 25.400
JL665 25,400
JL667 25.000
JL669 23,700
JL671 23.800
EE JL662 22,600
JL664 24.800
JL668 23,700
JL670 23.700
JL672 26,100
JL674 20,600
FR(CRE) =R HR(PE)F |_JL605 18.800
JL607 25.000
JL609 100
JL611 100
JL613 700 :22.100, H:25000
JL615 700 2: 25.000
R JL606 .700
JL608 800
JL610 100
JL612 25.600
JL614 25,600
JL616 800
FRCRE)=215 HR(PE)H |_JLes7 .600
JL689 600
JL691 B 600
JL693 .900
JL695 900
JL697 600 [£:25.500
EEES JL688 600 2:22.700, 1
JL690 600 124,600, 1
JL692 100 123,400,
JL694 100 £:23.400. B:25.400
JL696 25,200 H:26.700,
JL698 19200 | 56% [£H:21.700. &
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MEEEIS121 SEEXR(TH24~31BERED)

EREAE 2018/06/21 ~
7/24-31
=40} B4 BREMTE
Th| Esa [S00 [
AR FEES "
R (PE)=HE RR(PE) R [ B 25200 X:27.400. £:26.400, £:27.000
JL279 500 :29.700. H:25.200. :27.900, £:27.900
JL283 300 26,300 H:25.900
JL285 300 25.900
JL287 900 29,900, k£:29,900, £:25.000
HER JL276 3,500 :24.600,
JL278 26,800
JL280 24,300 J
JL284 27,900 &
JL286 27.900 &
HRCRE)=X% HR(PE)F | JL661 25,400 K
JL663 25400 X
JL665 25,400 [
JL667 25,000 X
JL669 23,700 % B:26.900, #%:25,800
JL671 23.800 X:26.900. 7k:22.500. %
EE JL662 22,600 K
JL664 24.800 [
JL668 23,800 :
JL670 23.800 A
JL672 26.100 D
JL674 20,600 J
FRCRE) =R HR(PE)F |_JL605 18.800 P
JL607 25.000 J
JL609 100
JL611 100
JL613 300
JL615 300
R JL606 .700 ES
JL608 800 X 24,400, 1:24.600, H:23.000
JL610 100 X:28.900, £:23.100. +:23,600, H:25.100
JL612 25,600 £:22.900. H:26.
JL614 25,600
JL616 800
FR(CRE) =215 HR(PE)H |_JLes7 .600
JL689 600
JL691 600
JL693 .900
JL695 ,900
JL697 600
e JL688 ,600
JL690 600
JL692 23,100
JL694 23100
JL696 B 25200 | 42%
JL698 B 19200 | 56%

JAL



TEEZISI21 1 EEXRBAI~THEED) JAL

EW#EMAAE ;. 2018/06/21 ~

8/1-7
=40} B2 BREMTE
Th| Esa [S00 [
AR #I51% "
BE=ILIR TR [EEES JL3513 B 30,000 50%
JL3515 26100 | 56% |+ H:28.200
FLAR (37 F %) 5| _JL3510 26,100 | 56% |+ H:28.200
JL3512 .000 | 50%
R CRIE) =/ HR(CFE) % |_JL183 .800 45% 600. 7:13.600, +:9.200
JL185 800
JL187 300
JL189 800
JL191 800
JL193 800
IMAFE JL182 .800
JL184 800
JL186 800
JL188 300
JL190 800
JL192 800
FR(CRE)=K5 HR(PE)F | JL661 30.500
JL663 30,500
JL665 30500
JL667 30,500
JL669 30500
JL671 30,500
EE JL662 26.900
JL664 26.900
JL668 26,900
JL670 26.900
JL672 27,900
JL674 21,900
R (PE) =R HE(PE) % [_JL605 25,000
JL607 30,000
JL609 30,000
JL611 30,000
JL613 30,000
JL615 30,000 K:30.500
R JL606 30.000 7K:28.900, :X:29.300, #:30.100
JL608 30,000 00, %:29.300, A:3
JL610 30,000
JL612 30,000
JL614 30,000 J7K:29.900, 00
JL616 28,900 A %:29.300. £:29.700. £:30.000
RR(HE) =28 RRCHE)FE [ JL687 29,400 |7k #:28.400
JL689 29.400 JkA:28.400
JL691 29,400 [7k:28.400
JL693 29.400 JkA:28.400
JL695 B 29,400 k28,400
JL697 29.400 JkA:28.400
EEES JL688 28,000 (7k:27.700
JL690 28.400 (7K:27.700
JL692 27.700 00
JL694 28.400 (7k:27.700
JL696 28,000 27700, % H:28.400
JL698 700 .400
HE=ALI (T &) HEH JL3421 100 .400. %:20.400
HLOF (i F38) %[ J13426 100 .900
BE=HIR(FFRE) . JL3437 .900 .900
HLOF (3 F38) [ 13436 B 16.600 | 67% |X:18.600. A:12.800




MEEEI5|21 EEXR(BA18~24BERED)

EREAE 2018/06/21 ~
8/18-24
=40} B2 FHEMTE
FH @gm E7M
AR EIEES
FRCRE) =R HR(PE)F | JL551 B 7.200 42% |£:29.900. %
JL553 7.800 | 40% 31,100,
JL555 9500 | 58% |H:21.700. 4
JL557 9500 | 58% |A
FEIES JL562 20.100 57% | A
JL554 24000 | 48% [A:
JL556 26800 | 42% [
JL558 28600 | 39%
R CRE) =K% HR(CFE) 5 |_JL661 25,500 40%
JL663 25500 | 40% | A
JL665 25500 | 40% |HE
JL667 26.900 7
JL669 24,900 A
JL671 24,900 ZE 6
KO% JL662 23,600 F:28.200. + H:29.200
JL664 24600 | 42% [FH:28.200, £:25.600. 29,500
JL668 24900 | 41% [H:23.700, £:25.000. %
JL670 24400 | 42% [B
JL672 26300 | 38%
JL674 22200 | 48% 23.200. £ H:27.900
R (PE)=R& HE(PE) % [_JL605 19200 | 58% |H:21.800. + H:22.500
JL607 25300 | 45% |H:26.800, £:26.300. 1
JL609 28,100 | 39% [H:27.300, J
JL611 28100 | 39% |H:27.300. K
JL613 23400 | 49% [H:
JL615 23400 | 49%
R JL606 23,600 | 49% |
JL608 24200 | 48%
JL610 24,000 | 48%
JL612 25900 | 44%
JL614 25900 | 44%
JL616 24300 | 47%
R CRE) =58 R CRIE)# |_JL68T 23,600 46%
JL689 24000 | 45%
JL691 24,000 | 45%
JL693 23700 | 46%
JL695 23300 | 47%
JL697 23300 | 47%
e JL688 23,600 | 46% |
JL690 23600 | 46% 4.600, £ H:31.300
JL692 23,600 3:31.300
JL694 24000 | 45% 3:31.300
JL696 25100 | 42% 26,000, T H:31.300
JL698 23.000 | 47% 27.900. H:28.600
HE=ALI (T &) HEH JL3421 B 15100 | 69%
HLOF (3 F38) [ 13426 B 15.100 | 69% [H:16.400. H:17.400
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MEEEI5|21 EE R (8A25~31BERERD)

EREAE 2018/06/21 ~
8/25-31
=40} B2 BREMTE
FH @gm E7M
AR EIEES
R CRE) =K% HR(PE)F |_JL661 B 25,500 40% 124,900, 1:26.300, B
JL663 25500 | 40% [%:24.900, £:26.300.
JL665 25500 | 40% :
JL667 800 | 42% [£:24.600, £:25.300.
JL669 900 | 41% :24,600, £:25,000.
JL671 900 | 41% |%+:25000. H:25.400
KRR JL662 600 | 47% :21,900, +:24.400, B:
JL664 600 | 42% [£:24500. £:26.400. B
JL668 900 | 41% 123,800, +:25.400
JL670 400 | 42% [£:23.800, +:25.400. H:24.900
JL672 26300 | 38% 25,700, £:24.900, H:26.900
JL674 20600 | 51%
R CRE)=Ki& HR(PE)F |_JL605 19.200 58%
JL607 25300 | 45%
JL609 23200 | 50%
JL611 23200 | 50% 24,300, +:25.600, H:24.600
JL613 23400 | 49%
JL615 400 | 49%
RIS JL606 900 | 50%
JL608 200 | 48%
JL610 500 1
JL612 25,900 4
JL614 25,900 4
JL616 24,300 7
RR(HE) =28 RRCHE)FE [ JL687 23,600 46% [+:24.500, H:22.200
JL689 24000 | 45% 22.200
JL691 24,000 | 45% 22,200
JL693 23700 | 46% 23.400
JL695 23300 | 47% £:22.700. B:23.500
JL697 23300 | 47% £:22.700, B:23.500
EI R JL688 23,500 46% |4 24,200, H:23,600
JL690 23600 | 6% :
JL692 23000 | 47% |#:21.800, £ H:23.600
JL694 23500 | 46% [#:21.500, £ H:24.000
JL696 25100 | 42% |%:24,600, £:24,000. H:25.000
JL698 .000 :23.000
HE=HLIE G F %) HESR JL3421 100 1,900
ALOF (i F3%) %[ J1.3426 100 | 69% [7K:13.400, H:16.400
BE=ILIRHHTFR) & JL3437 ,000 76%
ALOF (3 F3%8) %[ 13436 000 | 76%

JAL



MEEEIS121 EEXR(TA13~16BEED) JAL

EREAE 2018/06/21 ~
s msrg /18 | 1714 | 7/15 | 7/16_
P B2 {5 (7 €| TolE51(7 €| TolE31(7 E| BlEs(T ]
| RS | BEE | mam | EEa
BRCRE)=ki#E5] HR(PE)F | _JL565 =] 31.300
[ JL567 28,300
L569 27,000
RERI5E L562 25,900
[ JL564 25,900
566 24,400
RE(CRE) =R HE(PHE)H [ _JL651 33,500
[ _JL553 34,700
[ JL555 29,700
L557 29,700
TBIIIZE 552 24,300
[ _JL554 25,200
[ JL556 30,500
L558 25,600
R CRB)=#HIE RR(PE) R L573 21.100
JL575 23,800
JL577 23,800
JL57! 25.800
WIER JL57! 24,900
JL57: 21.800
JL57 21,800
JL57. 25.200
RR(PE)=X9 RR(CHE)$F [ JL66 23100 |
|_JL66: 23.100
[ JLG6! 23,100 |
| JL667 23.100
[ JL669 23,100 |
JL671 23.100
K% [ JL662 23100 |
[ _JL664 23.100
[ JL668 23,100 |
JL670 23.100
JL672 23,100 |
JL674 18.100
FR(CRE) =R RR(CHE)F [ JL60S 18,100
[_JL607 23.100
[JL609 23,100 |
JL611 23.100
JL613 23,100 |
JL615 26.000
RIGS [ JL606 23,700
[_JL608 23.700
JL61 23,700
JL61 .700
JL61 B 700
JL61 .700
RR(CRE)=21 FR(CPHE) S |_JL68 600
JL689 600
JL691 600
JL693 600
JL695 600
JL697 600
EEES JL688 000
JL690 .000
JL692 000
JL694 .000
JL696 000
JL698 ,000




MEEZI521 1 EER(BAS~15AEBES)

EREAE 2018/06/21 ~
4 E447 8/8 _ 8/9 _ B/10~ 8/11 _ B/12~ B/13~ B/M~ B/15~
=40} % BT E[ B EIM 7 E| BT E[ BT E[ BB 547 E| B 947 E[ BT E B {EH(T E]
| RS | BEE | @mE | Saw | 86w | SE@ | Sa@ | EEE
R CRE) =18/ HR(PE)H | _JL303 =] 27.900
L305 27.900
[JL307 29,700
L309 29700
L 29,700
L 29700
L 29,700
L 29700
L319 29,700
L321 29700
L323 29,700
[ JL32s 29700
L327 29,700
L329 29700
[ JLast 29,700
JL333 29700
JL335 29,700
fEE%E | _JL300 7.700
[_JL302 7,700
JL304 7.700
[JL306 7,700
[JL308 7.700
JL 7,700
JL 7.700
JL 7,700
JL 7.700
JL 7,700
[ JL320 7.700
[JL322 7,700
JL324 7.700
[JL326 7,700
[ JL328 7.700
[JL330 7,700
L332 7.700
KR () =i (RF) | KBr (5 F | JL2081 0,400
[ JL2085 20,700
JL2087 7.500
PR (APER) R | JL2084 1.500
["JL2086 7.900
JL2088 0.400
BE=FLIR TR EEES [ JL351 2,300
JL351 29,800
FLIR (BT %) & |_JL351 29,800
L351 300
RRCHE) =K% R CRE) % |_JL661 B 500
JL663 500
JL665 500
JL667 500
JL669 500
JL671 500
RRH JL662 26,900
JL664 26.900
JL668 26,900
JL670 26.900
JL672 27,900
JL674 21.900
RR(CRR)=RIK RRE(CPE)F |_JL605 25,000
JL607 000
JL609 000
JL611 000
JL613 000
JL615 000
RER JL606 29.700
JL608 29.700
JL61 30,000
JL61 30,000
JL61 30,000
JL61 29.300
FR(CRA) RRERCPH)F |_JL62! .000
JL625 000
JL627 000
JL629 000
JL631 000
JL633 31,000
JL637 31,000
JL639 31,000
AR JL622 27.700
JL624 28,400
JL626 28.400
JL628 27,700
JL630 27.700
JL632 28,700 31,600
JL634 28.700
JL638 26,000
RE(CRR)=515 RRERCPHE)H |_JLesT 29.400
JL689 29,400
JL691 29.400
JL693 29,400
JL695 29.400
JL697 29,400
EEES JL688 27.700
JL690 27,700
JL692 27.700
JL694 27,700
JL696 27.700
JL698 22,700
RRCPAE)=-ERE RRERCPE)H |_JLedl 30.800
JL643 30,800
JL645 30.800
JL647 30,800
JL649 30.800
JLB51T 30,800
JL653 30.800
JLB55 30,800
ER&F JL640 28,900
JL642 28,900
JL644 28,900
JL646 28,900
JL648 29,100
JL650 29,900
JL652 28,900
JL654 28,900
HE=FLIR (FT&) HES JL3421 19.400
FLOR (37 F58) 36| JL3426 18,000
EEAREFFR) EE R JL3437 — 13,600
FLOR (37 F58) 3| JL3436 —— 13,600

JAL



EREAE 2018/06/21 ~
d__8/16 8/17
- . %:27 54 E| 837
waE| B | ERER
KR () =i (RE) | KB () % | JL2081 =] 26.700
JL2085 24,900
L2087 16.900
ik (BRER) % | JL2084 30.700
[ JL2086 36.100
JL2088 8.800
HR(CRE)=X% HR(PE)F | JL66T 7.900
L663 7.900
[ JL665 7.100
[ _JL667 26.900
[ JL669 26,900
671 26.900
K% 662 29.400
L664 29,400
[ JL668 29,400
L670 29,400
672 33,300
L674 28,800
FR(CRE) =R HR(PE)H |_JL605 23.900
[_JL607 30,500
[ JL609 30500
L611 30.500
613 27,900
615 27.900
R |_JL606 29,000
L608 29,000
L 29,000
L 29,000
L 29,000
L 29,000
RE(HE) =2 RRECHE)F [_JLe8 27.700
|_JL689 27.700
[ JL691 28,300
[ JL693 28,300
[ JL695 28,300
697 27,600
= [ JL688 29,000
[_JL690 29,000
[ JL692 29,000
[ JL694 29,000
[ JL696 29,000
L698 29,000
HE=HLIR BT HESR JL3421 —
FLAR (B F58) 2| JL3426 —
BE=ALIR T FR) EES JL3437 B 13.600
HLOF (3 F38) %[ J13436 B 14.000

MEEEI5121 EEXR(BA16~1THERERD)

JAL



rse

BE5 EER(TA24~31BAEED)

SEFEAE  2018/06/21 ~
772431
=40) &4 FRMTA
ERH
R (FH) RECRH)%|_JL303 | | 14,500
| JL305 | [ 15500 |
| JL307 | [ 19700 |
| L300 | {20700 |
L311 | 21800 |
| L3138 | [ 18700 |
315 [ 18400 |
L317 [ 16300 ]
| L3190 | [ 15700 |
| L321 | {15000 |
| L3238 | [ 16400 |
| L325 | [ 17.100 |
| 327 | [ 18400 |
| L3290 | [ 19400 |
| L33l ] [ 19400 |
| L3338 | [ 2
L335 [
#wms [ _JL300 | [
| JL302 | [ 1
| JL304 | [ 1
| JL306 | [ 2
| JL308 | [ 1
[ | 200
L: [ 1 200
L: [ 1 600
[JL320 [17.300
[ uL322 [ 17.800
[uL324 [ 19,400
[ JL326 [ 19,400
[ uL328 [ 19,400
[ uL330 [ 18700
[ 332 [ 15200
HRCHE)=X5 RECRE) | _JL661 |_13700
[ JL663 [ 16,100
[ JL665 | 14200
[ JL667 15,000 : -
[ JL669 [ 13,700 I 300, %:15.200, B:17.100
L671 [ 15600 | 63% [7:16000, 7k7:15.200, %:18,100, H:19,500
] 662 [ 15200 | 64% |k:15600. %
[ 13300 | 69%
[ 15000 | 65%
[ 14100 [ 67%
[ 14900 | 65%
[ [ 13000 | 69%
R CHE) =R RRCABE [ J | 15,600 66%
500 | 58%
200 | 56%

e

R (FE

5
R
<

R (PE) | _J

5
2
&

5
R
=

5
2
B

5
2

5
2
5

5
2
<

55!
N
NE

5
2
R

5
2
&

5
2
&

5
2
8

5
2
5

5
2
5

5
2
&

FRCHE) =285

5
2
<

R (PR | _J

5
2
2

5
2

55|
3(2]
1

A
2(3(2|3
NEES

>
2
i3

RRCAHE)=-ERS

R (PR | _J

IS
S
S

EREH

00, H:17.100

,600, +:14,100

:14,500

:13,500

3,500, H:14,100

13,600, %:14,600, 16,100

,600, %:14,600, H:15.100




TEBE5 I EER(BAI~THERS

EEHEAR 2018/06/21 ~

8717
RFHTA xFHM7B
i
=R E4 P %
| ® [EES AL
R () =R FF#)| RRCHE) % | 17,800 45E B |
[_17.800 45881 |
[ 18,000 45881 |
[ 18,000 45881 |
[19.900 45881 |
[19.900 £ H 45881 |
[ 18,000 800, 24,100, %:20,600, £:21,200, 17,800 458
[_17.800 500, £:23,000, $:19.500, £:16.100, B:17.900 458
[_18,000 500, A:22. 0,000, 458
e | 500, 722, 1 : [ 255
[ 18400 500, 719,900, %:20,600, £:17.800, B1:18,900 458 9,800, H:18,800
[ 18400 :18,500. 5.19.900 £:20,600, £:17.800, H:18.900 458 9,800, H:18,800
[ 19.300 458
[ 20500 458
[ 20500 458
[ 18,000 458
[_21.900 458 00
WLIR (5T F ) 3 [_18.800 458 7.700. £:18,300. H:16,100
[19.900 458 £:18,800, Ellaaoo
|_18.800 458
[_17.800 458
[_17.800 458
[_17.800 458
[_17.800 4588 |
[_18.000 458
{18,500
[ 18500
| JL520 |_18.800
| JL522 |_18.800
| JL524 [_17.800
| JL526 [_17.800 7
| JL528 [_17.800 msoo %:18.900, 17,900, 520600
| JL530 | 17.600 | 56% ,900, +:16,900, H:20,600
1598 [ 21,900 | 45%
KBR (7 =48 (BER) | KBk () 5| _JL2081 | 21,700 47% |&+:22.700
| JL2085 [ 14900 | 63%
| JL2087 [ 13900 | 66%
iR (APER) F|_JL2084 | | 13500 67%
| JL2086 [ 19200 | 53% |H:27.400
L2088 | 21700 | 47% |H:27.400
FEE =) =S C 3,000 _|_53%
L: [ 22700 | 62% 66%
PLIR (37 F ) _JL. [ 22700 | 62% 66%
[ 28000 | 53% 58%
HR CHE) =M TR () F[_JL | 13500 | 50% 3] 56% 700
L [ 13600 | 50% |J 56% 700
L 600 | 50% | 56% 700
L 600 | 50% | 56% 700
L 600 | 50% |3 56% 700
L 600 | 50% | 56% 700
NS L 600 | 50% [J 56% |+ H:6.700
L 600 | 50% | 56% 700
L 600 | 50% | 56% X
L 600 | 50% | 56% |$:13,700, T+ H:8,700
L 600 | 50% | 56% | 213,700, + H:8.700
| J 50% |2} 56% |+ H:8.700
HRCHA)=LE R (FE) F[_JL253 7} 4¢ JKK:14,400, 1:14,200, H:13.800
[ JL255 K: 200 Kzﬂmo 7% |7K:17,300, A:17.300
| JL257 200, £:20.700 7% | KA:18500
[ JL259 :19,100, A:19.500 7% |7K:18,600, A:19.400
| _JL261 66% | 7K A:15,200
| JL263 66% K:15,200
[ JL265 X 67% :17.500,, A:18,500
L267 500, A:19.500 66% 8000, %:19,000
LB% | _J252 67% K:14,300
| JL254 64% K:17,300
| JL256 4 & 900 H:12.700 65% K:14.400, H:12200
| JL258 4 65% K
| JL260 1 g, ‘400‘ £:16,600, H:17,000 66% K
| JL262 4 600 66% K
| JL264 4 66% K
| JL266 66%
R (FE)=K5 R CRE) | JL661 58%
| JL663 47%
| JL665 47%
| JL667 50%
| JL669 62%
L671 62%
P 1662 ,900 63% 15,600, 15300, ﬁls 00
,900 £:15,600. 7K A:15,30( B
,900 8
,900 A 5
,900 8,100, H:17.200 ,900, 7K:11,600, Z:
[ J ,900 6.700 500, 7K:9,600, .1
R (CHE) =R EREBE | J 400 5,500, H:24.500 56%
445%
445%
445%
46%
46%
RIg 5 63%
:22,500, H:19.700 56%
56% | K1
56%
56%
56% _|K:1
HR(HH)= RRERCRE) | _J 50% [H§:2
49%
55%
50%
50%
46%
57% X 00 17,600, 218,700, E-19,600, H-19,700
445% , 00, A:18,800, %:22,700, £:23.200
AR 61%
| JL624 63%
| JL626 3
| JL628 4
| JL630 4
| JL632 8000, H:19.200 1
| JL634 8,000, H:19.200 1
| JL638 4
R (PH) =28 RECRIH)$|_JL68T [ _47% | 1,000, %:16,100, 52
| JL689 45% . 700, H:24,300
67%
45% £:24.700
445% 100, 900, H:24,700
47%
EEES 58%
63%
60%
60%
62%
| J 69%
RECRHE)=ER, RRECRE) % 47%
47%
47%
49%
61%
48%
44
44
ERBE 7
7
7:
7
. 7
,000 7
000, H:16.000 7:
,200, H:15,000 7
GRS ACEE 600 364 |
Bl 400 53%
HE=ALIR FFFR) = 400, £:19,400 65%
WLIE (3 F 58 5| 65%
R TR B ,900 80% 00
LR (3 F ) 5] 000, 11,800 78% 000, 7:10,800




MEs3l5 158

EER(BA18~24B %S

SEEWEMAA ;. 2018/06/21 ~
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400 117,200
HRCAE) S [ JL ,800 2,300, + H:9.900
[ JLi63 4,400 9,
[JLies 300 £ £:9,000
L167 ,000 4,100, £ H:9,900
H@EE | JLi62 100 5,200, T H:9.900
[JLiea 200 2,900, £ H:9.900
[JLi6e 800
[ JLi6s 800
R CRE) =/ RECRE) % |_JL183 800
[JLiss 800
[JLis7 000
[JLisy 800 500, F H:8.100
[JLiot 800 500, F H:8.100
193 800 %:10,500, £ H:8,100
MR [ _JLis2 800 8,100
[ JLisa 800 8,100
[JLise 800 EH:8,100
[JLiss 10,000 300, F H:8,100
[JL1%0 10,000 800, + H:8,100
[ JLio2 800 %:10,800, F F:8,100
RRE(PHE) =B8R FE(FE) 3 [ JL475 600 10,200
La77 200 500, F:15,800, H:13,000
479 200 11,900
[ JLast 300
[ JLass 300
[JLass 800
L487 800
BIE L474 200
476 ,100
[JLars 200
[ JL480 200
[ JLas2 500
[ Jiasa 700 6,100, +:12,700, B:15,500
[ JLase 200 15,700, 12,400
R (8 Al R (FIE) % |_JLasl 000 2,100, +:12.900, B:11,100
[JLass 600
[JLass 3,300
[ a7 000 1 12
[ JLas9 400 | 60% 800, £:12,600. H:15,000
L443 000 | 58% 600, F:12.300
LS |_JL430 600 | 62% 000, H:10400
[JLase 300 | 63%
[Jasa 000 | 69%
[ JLa36 900 | _67%
[JLass 300 | 60%
L440 300 | 60%
RRCHE) =K RR (FIHE) 3 |_JL661 800 | 73%
[ JLe63 600 | 66% +13,400, %:14.700, £:15,700
[ JLe65 700 | 71% 00
[ JLe67 400 | 69%
[ JL669 500 | 71%
L671 400 | 66%
XxpE | _Je6z 000 | _67%
[ JLesd 500 | _71%
[ JLe6s 400 | 69%
670 500 | _71% 1,700, H:13,100
L672 800 | 68% 3,000, H:15.300
[ JLe7a 900 | 73% 11,100
RRCRE)H |_JL605 ,200 67% 12,500, 713,000, %:13,500, £:14,600. H:13.400
[ JLeo7 700 | 66%
[ JL609 700 | 66%
611 700 | 66%
L613 600 | 69%
L615 600 | 69%
RE® | _JLe0s 600 | 69%
[ JLe0s 800 | 68%
L610 600 | 69%
612 700 | _64%
L614 700 | _64%
[ JLei6 400 | _67%
EAEE] RR(HE) 5 |_JL623 700 | 74%
[ JLe25 600 | 69%
[Jie27 100 | 66%
[ JLe29 200 | 63%
[ JLeat 900 | 66%
[ JLe3s 400 | 67%
[ JLe3r 600 | _64%
1639 600 | _67%
[ Jie22 100 | 68%
[ Jie2d 700 | _64%
[ JL626 600 | _6d%
[ JLe28 600 | 67%
[ JL630 800 | 64%
[ Jies2 900 | 66%
[ Jiesd 700 | 64%
[ JLe3s 8,600 79%
EACEIEL ] TR (FE) % | JL68T 100 | 68% |£:14,000, £:13,800
400 | 67% 3
100 |_66%
100 | _66%
600 | 64%
100 |_66%
ECES 600 | 67%
100 | 68%
100 | _68%
100 | _68%
100 | _68%
100 | 73%
RRE(PHE)-ERE | RRCHE) R 400 78%
L643 400 78%
L645 400 78%
L647 900 77%
L649 900 7%
[ JL651 ,400 78%
[ JLes3 400 78% | H:9900
L655 10100 | 77% |H:11,600
BERERE L 9,200 79% [ £:9,300
L 11,100
L 9,400
L 9,400
[ JL 12,100 111,300, H:13.100
[ JL650 9,400 00
[ Jies2 9,900 900
L654 9,900 900




[R—/{—%BIEBEROA18~30BEERS) AL

EW#EMAA : 2018/06/21 ~

9/18-20,9/25-30
FH =%
=40) Ea | BAY — EER =
i’ B | gyziw %
R CABR)=XR () | RRCHE) % 7.400 7% 400, H:7.900
900 | 57% 0400, £:11.300. H:9.300
400 | 55% 00,
.800
800
.300
300
9.300
9300
.000
500
500
500
500
500
KR (751 % .000
.500
500
500
.800
800
800
800
800
800
.400
400
.700 .700. £:8.900.
J .700 1.900. £:8.900.
J .700 1,900, £:8.900.
BE=ALIR (FT TR [ N .200 £ H:18.900
JL35 9.900
#LIR (3 F5%) 8 _JL3510 | 55 9.900
JL3512 | 55 7.200 3:18.900
RE(HE)=ME HRm(CHE)F | _JL161 | 55 3.400 1,900, £ H:9.100
JL163 | 55 4.000 3.9.100
[ JL165 | 55 1,000 39,100
JL167 | 55 600 3700, £ H:9.100
EEES JL162 | 55 .700 4,800, £ H:9.100
JL164 | 55 .900 1 2500, £ H:9.100
[ JL166 | 55 400 1%
JL168 | 55 400 | 55%
FR CRE) =t FR(FE)F [ JL431 | 55 .000 69% 12,500, H:10.100
JL433 | 55 4600 | 50% 1
JL435 | 550 3200 | 63%
JL437 | 558 700 | 70%
JL 556 400 | 60%
JL 556 800 | 59%
PIES JL 556 200 | 63%
JL 556 3200 | 63%
JL434 | 550 0700 | 70%
JL 556 1.600 | 68%
JL 556 4200 | 60%
JL440 | 558 4.200 | 60%
RE(FE)=X5 TR CFIE) % |_JL661 | 558 800 | 73%
JL663 | 558 .600 | 66%
JL665 | 558 500 | 71%
JL667 | 558 400 | 69%
JL669 | 558 500 | 71%
JL671 | 558 400 | 66%
K55 JL662 | 558 000 | 67% |X 14,100, H:12.500
JL664 | 558 500 | 71% |3, 600 H:11.300
JL668 | 558 400 | 69% | X:14.100, H:14.000
JL670 | 558 500 | 71% | 213200, B:13.100
JL672 | 558 800 | 68% | :13.900, £:14.800, +:13.000. H:15.300
JL674 | 558 1100 | 72% [k .900. % B:12.400
R (PE) =R TR CFIE) % |_JL605 | 558 3200 | 70% |5k 111,700, £:14.400. H:12.000
JL607 | 558 300 | 65% |4
JL609 | 558 100 | 68% |J
JL611_| 558 100 | 68% |4
JL613 | 558 600 | 69% |4
JL615 | 558 3600 | 69% |#
AR JL606 | 558 3600 | 69% |/
JL608 | 558 3800 | 68% [Y
JL610 | 558 4100 | 68% |/
JL612 | 558 5700 | 64% |
JL614 | 558 5700 | 64% |4
JL616 | 558 4500 | 67% [7k:14.400, %:16,900, 113,200, H:14,600
R (PE) =X TR CPIE) % |_JL623 | 558 0700 | 74% |X:13.000. A%:12.000, £:12.500
JL625 | 558 3,900 [ 66% [X:14.900, 7K:12,600, 1:14,400. H:12.500
JL627 | 558 4100 | 66% |X:14.600
JL629 | 558 4,800 | 64% | A:14,700. K:14.400
JL631 | 558 4300 | 65% | X:14.700. 7K:13.400, A:13.900
JL633 | 558 4,100 [ 66% [X:13,900, 7K:13,100, #:13,400, H:13,600
JL637 | 558 4100 | 66% |7K:13.000. A:13.600, % H:14.600
JL639 | 558 3600 | 67% |#H:15300, £:13,000
AR JL622 | 558 4600 | 64% |7K:13.100. A:13.800, £:14.200. £:15.300. H:13.000
JL624 | 558 4,600 | 64% |KA:14.700. % £:14,800
JL626 | 558 4600 | 64% |7K:14.100
JL628 | 558 4600 | 64% |sk:13000, A+:13,600, £:14.100
JL630 | 558 4800 | 64% | 4,000
JL632 | 558 3900 | 66% [Y :15.300
JL634 | 558 4700 | 64% H:15.300. £:14.300
JL638 | 558 8,600 79% > 59,100, +:7,600
RRE(CRR)=215 FR(CRE) % |_JL68T | 558 3.100 68% | k:13.300. £:13.700.
JL689 | 558 3400 | 67% |%:13,900, B:12,7
JL691 | 558 4100 | 66% |X:13.800. 7K:13.0 13.600
JL693 | 558 4,700 | 64% |[7K:13,600, A:14.1 14,300, £:13,400, B:14.600
JL695 | 558 3600 | 67% |2 :13.1 600, H:14.800
JL697 | 558 4500 | 65% |7 14,800, £:13,000, B:15.300
EEES JL688 | 558 3600 | 67% |/ 00. H:13.000
JL690 | 55 13.100 | 68% | 100, £:14.300. H:13,600
JL692 | 55 13.600 | 67% |4 . £:13.200. B:14.10
JL694 | 55 13.100 | 68% |
JL696 | 55 13.100 | 68% |
JL698 | 55 11,100 | 73% k12, X
HRCAB)-ERE | ERCAE) % [ Jieai |55 9.400 78% | X:10.900, +:10.400
JL643 | 55 9,400 78% | X:10,900. £:10.400
JL645 | 55 9.400 78% | X:10.900, +:10.400
JL647 | 55 9,900 77% | K:14.400
JL649 | 55 9.900 77% | R:14.400
JL651 | 55 9,400 78% | :10,900
JL653 | 55 9400 78% | X:11.700, H:9.900
JL655 | 55 10,100 | 77% |X:12.400. H:11,600
BR&%E | _JL640 | 55 9.200 79% | X:12.600, £:9.300
JL642 | 55 11,100 | 75% | X:14.600
JL644 | 55 9.400 78% | X:14.100
JL646 | 55 9,400 78% | :13,600
JL648 | 55 12100 | 72% |X:14.600. A:11.300, H:13.100
JL650 | 55 9.400 78% | X:14,100. H:10.400
JL652 | 55 9.900 77% | X:13.600, H:10.900
JL654 | 55 9,900 77% | X:13,600. H:10.900




[R—N—%FIHEEXR(10A1~4BEBESD)

EREEAA : 2018/06/21 ~
mocm
=40) Ea | BAY - TER
i’ B | gyziw w5
R CABR)=XR () | RRCHE) % 7.600 70%
1900 | 57%
700 | 54% |A:11.600
100 | 56% |A:12.600
100 | 56% |A:12.100
600 | 58% |A:11.500
.600 | 58% |A:11.100
9.600 62% | A:10.100
9,600 62% | :10.100
300 | 55%
800 | 53% |A:11.500
800 | 53% |A:11.500
800 | 53% |A:12.300
800 | 53% |A:12.300
800 | 53% |A:12.300
KB (5 % .300 558
800 | 53%
800 | 53%
800 | 53%
100 | 56%
100 | 60%
100 | 60%
100 | 60%
100 | 60%
100 | 60%
700 | 58%
700 | 58%
100 | 52%
J 100 | 52%
J 100 | 52%
BE=ILIRFTFR) [EEE N N 900 67%
JL35 9.900 83%
FLIR (3 F8%) % _JL3510 | 55 9.900 83%
JL3512 | 55 8900 | 67%
FR(CRE)=ME R (FE)F [ _JLI6T | 65 3.800 50%
JL163 | 55 4400 | 48%
[ JL165 | 55 300 | 59%
JL167 | 55 000 | 53%
EEES JL162 | 55 100 | 45%
JL164 | 55 200 | 59%
[ JL166 | 55 800 | 50%
JL168 | 55 800 | 54%
FR(CRE)=X5 R (FE)F [ JL66T | 55 .800 73%
JL663 | 55 .600 | 66% 400
JL665 | 558 700 | 71% 500
JL667 | 558 400 | 69% ,000
JL669 | 55H 500 | 71% 100
JL671 | 558 400 | 66% 600
K% JL662 | 558 000 | 67% |X:12.500
JL664 | 558 500 | 71% [ J:11.300
JL668 | 558 400 | 69% | H:12.600
JL670 | 558 500 | 71% [H:11.700
JL672 | 558 800 | 68%
JL674 | 558 .900 | 73%
RE (PE)= TR CFIE) % |_JL623 | 558 700 | 74% |:12.000
JL625 | 558 600 | 69% |A:13.900
JL627 | 558 100 | 66%
JL629 | 558 700 | 64% | JK:14.400
JLi 556 900 | 66% | kok:13.400
JL 556 400 | 67% |K:13.100
JLi 556 000 | 68% | H:14.600, A:13.600
JL 556 600 | 67% |H:14.700
AR JL622 | 558 100 | 66%
JL624 | 558 .700 4% | A:14.600
JL626 | 558 600 4% | X7K:14.100
JL628 | 558 3.600 7% | H:14.600. K:13.000
JL630 | 558 4.600 4% | X:14.700. 7K:14.000, %:14.800
JL632 | 558 3900 | 66% |H:14.200. k:13.400
JL634 | 558 4200 | 65% |X:14.400. 7K:14.700, A:14.900
JL638 | 558 8.600 79% | 4:6.500. 7K:7.000
R (PE) =2 TR CFIE) % |_JL687 | 558 3100 | 68% |A:12.900
JL689 | 558 3400 | 67%
JL691 | 558 4100 | 66% |X:12.600. 7K:13.000
JL693 | 558 4,100 [ 66% |F:14,600, 7K:13,600
JL695 | 558 3.100 | 68% |H:14.600. A:13.600
JL697 | 558 4,100 [ 66% [X7K:13,600
EEES JL688 | 550 3600 | 67% |A:14.200
JL690 | 558 3100 | 68%
JL692 | 558 3.100 | 68%
JL694 | 558 3,100 | 68% |H:14,600
JL696 | 558 3.100 | 68% |H:13.600
JL698 | 558 1100 | 78% [:12200, A:12.700
RRCPAE)=-ERE RRERCPE)F |_JL641 | 55H 9.400 78%
JL643 | 558 9,400 78%
JL645 | 550 9.400 78%
JL647 | 558 9,900 77%
JL649 | 558 9.900 77%
JL651 | 558 9,400 78%
JL653 | 558 9400 78%
JL655 | 558 10,100 | 77%
BRE&% | _JL640 | 558 9.200 79%
JL642 | 558 11,100 | 75%
JL644 | 558 9.400 78%
JL646 | 558 9,400 78%
JL648 | 558 12100 | 72% |XA:11.300
JL650 | 558 9,400 78%
JL652 | 558 9.900 77%
JL654 | 558 9,900 77%

JAL



[R—N\—%FGIHEEXR(10AI~18BEFEN)

EREEAA : 2018/06/21 ~
FH xloz/(a—;is
=40) Ea | BAY — EER =
i’ B | gyziw %
R CABR)=XR () | RRCHE) % 7.600 70% [+:8,700. H:8.100
900 | 57% [£:10.700. £:11.400, H:9.600
700 | 54%
100 [ 56%
100 | 56%
600 | 58%
.600 | 58%
9.600 62%
9,600 62%
300 [ 55%
800 | 53%
800 | 53%
800 | 53%
JL137 800 | 53%
JL139 | 55 800 | 53%
KR (B % | _JL102 | 55 300 [ 55%
JL104 | 55 800 | 53%
| JL106 | 55 800 | 53%
JL110 | 55 800 | 53%
JL 55 100 | 56%
JU 55 100 | 60%
JL 55 100 | 60%
JU 55 100
[ JL120 | 55 100 | 60%
JL124 | 55 100 | 60%
126 | 700 | 58%
.700 | 58%
0 100 | 52%
L134 | 55 100 | 52%
L138 | 55 100 | 52%
FR(CRE)=ME HR(PE) R L161 | 65 .800 50%
L163 | 55 4400 | 48%
L165 | 55 300 | 59%
L167 | 55 000 | 53% 4.100. = H:9.900
WER L162 | 55 100 | 45% 5200, & H:9.900
L164 | 55 200 | 59% 2.900. + H:9.900
L166 | 55 .800 | 50%
L168 | 55 800 | 54%
FR(CRE)=K5 R (FE)F [ JL66T | 55 .800 73%
55 400 | 66%
55 500 | 71%
55 400 | 69%
55 100 | 70%
55 400 | 66% :
K55 550 000 | 67% £:14.100. H:12.500
556 500 | 71% [£:12.600. £:13.400. H:11.300
556 600 | 68% |JKA:12.400. H:14,000
556 700 | 71% |4
556 000 | 67% |&:
556 100 [ 72% [&
R (FIA) = RERCRE) % 55H 700 74 K
556 600 | 69% |k
556 100 | 66% |/
556 700 | 64% |J
556 900 | 66% | :14,300
556 3400 | 67% Y :14.100. H:13.600
556 4600 | 64% 100
556 3600 | 67% :15.800. £:13.100
AR 550 4100 | 66% 5,800, H:13.600
556 .200
556 600
556 600 114,100
556 800 00, £ H:15.200
556 3900 | 66 q :15.800
556 4700 | 64% 200, 7:14,900, % H:15.800
556 8.600 79% 17,600, H:9.100
RR(CRE)=21 RERCRE) % 55H 3.100 68% B
550 1400 [ 67% [kl :13.100
556 100 | 66% | k14, 300, £:13.600
556 600 | 64% |JK:13. :14.700. £:13.400
556 600 [ 64% [sKk:13,
556 100 [ 66% [k:14,
S 556 600 | 67% |A:1 000, £:14.700, £:15,500,
556 3100 | 68% [& 4,100, +:14.700. H:13,600
556 3100 | 68% |k 13,600, H:14.100
556 4600 | 64% K 14,500, £:13,600. H:14.700
556 3100 | 68% |A:13. £:14.500, 1:13.400, H:14.900
556 1,300 | 73% |Jt
RRCPAE)=-ERE RERCPE) % 55H 9.400 78% [k
556 9,400 78% | #:10,600, £:10.400
556 9.400 78% | :10.600, +:10.400
556 9,900 77% [ X:13.900
556 9.900 77% | K:13.900
556 9,400 78% [X:12,700
556 9400 78% | :10,600. H:9.900
55H 10.100 77% [A:11.300, #:11,100, H:11,600
ERE% 550 9.200 79% | K:12.400, £:9.600
556 11,100 [ 75% [X:15.100
556 9.400 78% | K:14.400
556 9,400 78% [ X:13,900
556 12100 | 72% [X:14.600. :11.300, H:13.100
556 9,400 78% | :13,900, H:10,400
556 9.900 77% | X:13.400, H:10.900
556 9,900 77% | X:13,400, B:10,900

JAL



[R—/IR—%BHEEXR(10A19~27THEES)

EREEAA : 2018/06/21 ~
.
=40) Ea | BAY — EER =
B BRE | gsix
HRCRB)=XR () | RRCAE) % 7.600 70%
1900 | 57%
700 | 54%
100 | 56%
100 | 56%
600 | 58%
.600 | 58%
9.600 62%
9,600 62%
300 | 55%
800 | 53%
800 | 53%
800 | 53%
JL137 800 | 53%
JL139 | 55 800 | 53%
KR () % |_JL102 | 55 300 [ 55%
JL104_| 55 800 | 53%
| JL106 | 55 800 | 53%
JLT10_| 55 800 | 53%
JL 55 100 | 56%
JL 55 100 | 60%
JL 55 100 | 60%
JL 55 100
[ JL120 | 55 100 | 60%
JL124 | 55 .100 | 60%
126 | 700 | 58%
700 | 58%
0 100 | 52%
L134 | 55 100 | 52%
L138 | 55 100 | 52%
FR(CRE)=ME HR(PE) R L161 | 65 .800 50%
L163 | 55 4400 | 48%
L165 | 55 300 | 59%
L167 | 55 000 | 53% 4,100, £ H:9.900
ER L162 | 55 100 | 45% 5200, & H:9.900
L164 | 55 200 | 59% 2900, £ H:9.900
L166 | 55 800 | 50% :9,900
L168 | 55 .800 | 54% | +H:9.900
RE(FA) =K% R CPE) % | _JL661 | 65 800 | 73% [%:11.100. -
55 .600 | 66% :13.400.
55 700 | 71% +11,500,
55 400 | 69% | H:13.000.
55 500 71% 12,100, &
JL671 | 55 400 | 66% 13.600. £
K55 JL662 | 558 000 | 67% |KH:12500, %
JL664 | 558 500 | 71% [HE:11.300. %
JL668 | 558 400 | 69% |H%:12.600. B:
JL670 | 558 500 | 71% |H%:11.700.
JL672_| 55H 800 | 68% |%:15.000,
JL674 | 558 .900 | 73% | £ H:12.400.
RR CHE)=HE TR CFIE) % |_JL623 | 558 700 | 74% | A%:12.000,
JL625 | 558 600 | 69% |A%:13900.
JL627_| 55H 4100 | 66% |£:14.400
JL629 | 558 5200 | 63% | HA:14.700. XK:14.400
JL 55 3.900 | 66% |XK:13.400. %:14.600, + H:14.300
JL 556 3400 | 67% 4.10
JL 55 4600 | 64% 3.
JL 556 600 | 67%
AR JL622 | 558 .100_|66%
JL624 | 558 .700 4
JL626 | 558 600 4%
JL628 | 558 3.600 7
JL630_| 55H 4.800 4%
JL632 | 558 3900 | 66 :15.800
JL634_| 55H 4700 | 64% 900, % H:15,800
JL638 | 558 8.600 79% 0. +:7.600. H:9.100
R (PE) =2 R CRE) % |_JL687 | 65H 3100 | 68% [&:14, )
JL689 | 558 400 | 67% |+:13.900. B:13.100
JL691_| 55H 100 | 66% | k:12.600, 7K:13.000, %:14.300. £:13.600
JL693 | 558 100 | 66% 4600, 7K:13.600. % H:14.700. £:13.400
JL695 | 558 600 | 64% | koK:13.100. A+£:13,600. H:15200
JL697 | 558 100 | 66% [JsK:13.600, £:15.000. +:13.100. H:15.800
S JL688 | 558 600 | 67% | H:14.200, %:14.700, +:15500. H:13.100
JL690 | 558 3100 | 68% |£:14,100, $:14,700, H:13,600
JL692 | 558 3.100 | 68% |%+:13,600. H:14.100
JL694 | 558 3100 | 68% [/5:14,600, £:14,500, F:13,600, H:14.700
JL696 | 558 3.100 | 68% |A:13.600. £:14.500, £:13.400. H:14.900
JL698 | 558 1,100 | 73% |J£:12,200, £:13,600. H:14.300
RRCAB)=ERE | ®RCAE) % [ _JLe4i | 558 9.400 78% | £:10.400
JL643 | 558 9,400 78% | £:10,400
JL645 | 550 9.400 78% | +:14.300
JL647 | 558 9,900
JL649 | 558 9.900
JL651 | 558 9,400
JL653 | 558 9400
JL655 | 558 10,100
BERE&% | JL640 | 558 9.200
JL642 | 558 11,100
JL644 | 558 9.400
JL646 | 558 9,400
JL648 | 558 12100 | 72% | k11,300, H:13.100
JL650 | 558 9,400 78% 10,400
JL652 | 558 9.900 77% 10.900
JL654 | 558 9,900 77% | H:10,900

JAL



EREEAA : 2018/06/21 ~
9/1 9/2
=0 §a | mam [Pornliim
R EESE | EER
FR(CRE)=XiR (B | RRCAE) R 10.500 9.100

10.000
,.800
ENACEIES N .200
,.800
000
R CRE) =18/ HRPEE)R [ J 4,900
5.300
7.000
8.200
8.200
7.200
.300
700
,700
700
,700
.900
,900
.900
,300
300
,300
EEEES .200
55 ,200
55 .200
55 100
55 300
55 ,100
55 200
55 ,800
55 100
55 ,100
55 500
55 ,500
55 800
55 800
55 .900
55 900
55 600
BE=ALIR (FT TR EEEES 55 .200
55 4700
LR (BT %) 5L 55 4,700
55 7.200
FRCRE) =/ M2 RERCRE) % 55H 100
558 100
55 100
558 100
55 100
558 100
INEFE 55 100
558 100
55 100
558 100
55 100
558 100
RR (HE) =l RERCRE) % 55H 3.400
558 4800
55 300
558 300
55 400
558 600
PATED 556 4500
558 500
55 300
558 400
55 1400
558 400
RR(CRE)=K5 RERCRE) % 55H .300
558 700
55 800
558 600
55 700
558 3,400
R H 556 4100
558 4,100
55 3.400
558 3,400
55 3.900
558 2,700
RR(CRR)=RIK RRE(CPE)H |_JL605 | 55H 4,600
558 6,500
55 5.800
558 5,800
55 3700
558 3,900
RER 556 5.500
558 5,200
55 4700
558 4,900
55 4.900
558 900
RR(CRE) =R RRERCPE)F | _JL623 | 55H 500
558 400
55 700
558 5,200
55 4.900
558 4,100
55 4100
558 3,600
AR 550 5.800
55 15,200
55 14.600
55 13,600
55 14.800
55 13,900
55 14700
55 7,700
EEACEDE RRECPE)F |_JL687 | 55 13.800
55 13,900
55 13.600
55 13,400
55 13.800
55 13,800
B 55 15.500
55 14,700
55 13.600
55 13,800
55 13.400
55 12,200
ER(CAE)-ERE RERCRE) % 55 10.400
10,400
10.400
9,900
9.900
9,400
9.400
10,100
BERER 9.300
11.100
9.400
9.400
12.100
9.400
9.900
9.900

[R—N—%GIHEEXROR1~2BEES)

JAL



EREAR

2018/06/21

TR—N—%FGIHEEROA14~1THEED)

=40]

9/14

9/15

9/16

9/17

A—ri—5:t

A—ri—5:t

A—ri—5it

A—r—%8

EEEH

EEEH

EEEH

EEE

R CRE) =K%

RRCAE)F | J

.100

25,000

100

.200

.300

.800

.800

.200

ROH

,100

25.000

[15.200
0

.600

.200

.300

100

.400

R CRE)=Ki&

R CPIE) % | JL605 |

,600

.100

R

R CRE)=fEX

RRCRE)F | J

AR

R CRE) =58

R CPIE) # | JL68T |

RROPE)=ERS

RRECPE)#

5.300

ERBR

5.100

JAL



EREAR

2018/06/21

TR—N\—%FGIHEEROA21~24BEFEN)

=40]

9/21

9/22

9/23

A—ri—5:t

A—ri—5:t

A—ri—5it

EEEH

EEEH

EEEH

R CRE) =K%

RRCAE)F | J

.100

.000

.300

.700

.800

.200

ROH

,100

.600

.200

.300

100

.400

R CRE)=Ki&

R CPIE) % | JL605 |

.800

.100

,000

.000

200

.200

R

600

.600

600

.000

,000

200

R CRE)=fEX

RRCRE)F | J

.500

.400

,700

.500

.900

.700

,700

.100

AR

600

.100

600

.600

100

.600

.600

9.200

R CRE) =58

R CPIE) # | JL68T |

4.300

5.000

4,700

5.000

4.600

.500

.600

.600

.600

.600

.800

.600

RROPE)=ERS

RRECPE)#

.900

.900

.900

.500

.500

.300

800

5.200

ERBR

.600

.100

.100

.600

.100

.900

.900

JAL



EREAR

2018/06/21

[R—/—5%1G:EER(10A5~8AEFE)

=40]

10/5

10/7

10/8

A—ri—5:t

A—ri—5it

A—r—%8

EEEH

EEEH

EEE

R CRIE) =i E

R CRE) %

,200

.300

,100

.000

HER

.500

.300

200

.400

,900

R CRE) =K%

RRCAE)F | J

.000

.700

.800

.500

.800

.100

EY

600

.100

.000

.100

,000

.400

R CRE) =Ri&

RRCAE)F | J

,100

.900

.300

.300

.900

.500

R

800

.600

600

.100

20.500

.000

R CRE)=fEX

RRCAE)F [ J

.500

.400

800

.500

,000

.500

,700

.100

AR

100

.600

600

.600

.100

5.600

9.500

9.000

AR CRIE) =58

RRECRE)#

4.900

5.100

5.500

.500

.500

.000

.100

.600

.600

.100

.000

.500

RROPE)=ERS

RRECPE)#

.000

.000

.000

.300

300

3.800

4.800

.300

ERBR

.400

.600

100

3,600

3.200

2,700

4.800

9,500

JAL



TILNSEFIEER (A4~ 13BERS)

EW#EMAA : 2018/06/21 ~

9/4-13

TSR
= ®% | mAM -

B | ammm | 2EH
7,300
.400
.200
.800
,800
.300
,300

R CAB)=XR () | RRCHE) %

.000
.500
.500
.500
.500
.500
.000
.500
.500
.500
.800
.800

.800

.800

.800

800

.200
200
.700
.700
.700
.300
.800

KRR J

700, 900,
1,900, £:8.900,
1,900, £:8.900.,
3:13.200

BE=ILIRFTFR) [EEES

o

AL (BT %) 3

.300 13.200

1,700, £ H:9.700
3:9.700
1:9.700
3.600. + H:9.700
4,700, £ H:9.700
:12.400, + H:9.700
:9.700
:9.700

R CRIE) =i E R CRE) % .300
.900
.800
.500
.600
.700
300
300

HER

9.700
10.500
.900
.700
.700
.700
.700
.700
.700
.900
.700
.700

SR CRIE) =/ RRCAE)F | J

0.200. + H:7.900
#:10.200. + H:7.900

IMAFE

EEAC:DEET RERCRE) % .600
14.200
9,900
0.700
0.700
3.700
4.700
1.600
2.400
9.900
9,900
1.400

+:13.100, B:

1.900. B

:14.600.

1,500, +:
:14.900, H:

FRCRE) =t RRECPE)#

62% |14 .100, H:14.500
11,700, H:14,600
.900, H:10.300
+£:10,900, H:10.300

IS

11,900, £ H:12,500
13.700 62% | £:14.200, £:10.
4,200, £:10,700

RECRR) =K% RRECRE)#

ES

RRE(CRE)=RIK RERCPE) % £:12.600, H:11.900

R

n|m|m|m |m{m|m|m|m o |m|m|m | o oo o (o o o @ o o oo o | o o oo o o o oo | o o oo o | o o o o o o o o o | o o oo o | o
|«
<
S
S

800, 1 3.600
:13.300, H:13.800

RECRE)=RER RRECRE)#

=4
o
S
S
&)
2
=

112,000, A:12.600. £:13.100

12,200 70% 3,300, X:12,000, A:12.600, £:13,800. H:14.300
13.100 68% | k7K:12.100, A:12.600, £:13.600, H:12.200

13,100

13.600 67% 7K:13.100

12,600 69% 13,600, 7k:12,000, £:13,100

12.600 69% :13.600. 7K:12.000. £:13.100

12,200 70% 13,200, X:12,000, %:13,300, H:13.800

12.200 70% 13,200, ::12.000. £:13.300. H:13.800

7.600 82% [ :A:5800, 7K:6,000, 8,200, 1:6,600, H:8,100

=
o
S
S
=
2
=

RR(RE)=51& RERCRE) % 9.800 76% 12,000
12,000 71% | £:12.200
13.100 68% | :A:11.800, 7k +:12.000
13,100 68% 3,600, 7K:12,600, £:13,300, +:12,000, H:13.700
13.600 67% | k7K:12.200, A+:12.600. H:13.800
12,200 70% | A :13,100. 114,300

T 12.200 70% | A:12.800, 7K A:12.600, £:13.300, 1:13.800

12,200 70% | K] :13,300, H:12,600
12.000 1% 2,600, ,200, .100
12,200 70% | A:13.600, £:12,800, £:12.600. H:13,700
12.000 71% | A:X:12.200, £:12.800, H:13.700

11.000 73% [X:10.800. £ +:11.600. H:12.500




TS5 RBEER(OA18~30BEES)

EREEAA : 2018/06/21 ~
9/18-20,9/25-30
4 S
] B2 | BAS [—— IREIER
i’ B | gyziw %
R CABR)=XR () | RRCHE) % 7.100 72%
1400 | 59%
900 | 57%
500 | 58%
500 | 58%
.000 | 60%
.000 | 60% .
9.000 64% | A%:9.500
9,000 64%
700 | 58%
1200 | 56% :10.800
200 | 56% 0.800
1200 | 56% :11.400
200 | 56% :11.400
200 | 56% 12, 1:11.400
KR () % 700 | 58% |%:9.800. £:8.500. H:8.700
200 | 56% |£:10,300. £:8500.
200 | 56% 0300, +:8.500.
200 | 56% |%:10300, £:8500.
500 | 58%
500 62% 700
500 62% 700
500 62% ,000. H:8.700
500 62% 600, F:8.700
500 62% 600, H:8.700
.900 61% | & 500, +:8.600. H:10.900
900 61%
400 | 55%
400 | 55% |4
400 | 55%
BE=ALIR (FT TR EEEES .200 73% |+
9.800 83%
FLIR (T %) 59 9.800 83%
200 | 73% 3:16.200
R CRE) =i E R CRE) % 900 1,400, 1 H:8.800
500 | 51% |+ H:8.800
500 | 62% 3:8.800
100 | 56% 3200, £ H:8.800
HER .200 49% 4,300, + H:8.800
1400 | 62% 2,000, + H:8.800
900 | 53% 3:8.800
1.900 | 57% 3:8.800
R CRE) =& R (CRE) 5 9,600 71%
14200 | 57% 12.000
B 9.900 ]
B 0.700
B 0.700
B 3.700
B 4700
BT B 1.600
B 2.400
B 9.600
B 9,600
B 11.400
B 15.000
B 14.100
RR(CRE)=K5 RERCRE) % B 9.000
B 600 | 7
B 400 | 7 HI
B 600 | 7 +13.200. H:12.800
B 400 | 7 % H:13.000
B 000 | 7 3:13.600
K55 B 000 | 70% [X:13,600. #+:13.100, H:11.800
B 400 | 71% |k 500, H:11.200
B 600 | 71%
B 400 | 71%
B 000 | 72% 00, B:12.500
B 000 | 72% 3:12.300
R (PE) =R R CHE) % B 400 | 7a% 1600, £:13.600, H:11.900
B 200 | 72%
B 100 | 70%
B 100 | 70%
B 200 | 72%
B 2200 | 72%
AR B 3.600 | 69%
B 3600 | 69%
B 3.600 | 69%
B 2,800 | 71
B 2800 | 71%
B 1,800 | 73
RR(CRE) =R RERCPE) % B 0.600 74
B 3100 | 68
B 3.100 | 68%
B 3100 | 68%
B 3.100 | 68%
B 2,000 | 71%
B 3100 | 68% [sk:12.000, #:12.600, % H:13.600
B 2,600 | 69% [7K:12,200, %:13,800, %:12,000. H:14,300
AR B 3600 | 67% [7k:12.100, #:12.600, £:13.100, H:12.000
B 3600 | 67% [/K:13.100
B 3600 | 67% |7K:13.100
B 3600 | 67% [/K:12,000, A+:12,600. £:13,100
B 3600 | 67% [7K:12.000, AF:12.600, £:13.100
B 2200 | 70% |
B 2200 | 70% |/
B 7,600 82% |
RE(CRR)=515 RERCPE) % B 9.800 76% K
B 2000 [ 71% [+
B 3.100 | 68% |X:12.600. KE:12.000
B 3300 | 68% [JK:12,600, A:13,100, £:12.000, B:13,600
B 2600 | 69% |X:12.800. 7K:12.200. 00, H:13.800
12,800 | 69% [7K:12.200. A:13.100, £:13.300. £:12,000. H:14,300
S 13800 | 66% |skK:12.600. £:13.300, H:12.000
12,800 | 69% | %:13.100, £:13,300. H:12.600
12.600 | 69% |
12,800 | 69% |
12.000 | 71% |2
11,600 | 72% |
ER(CPAE)-ERE RERCRE) % 8.900 80% [
8,900 80% | X:10,400, £:9.900
8.900 80% | :10.400, +:9.900
8,900 80% | :13,600
8.900 80% | X:13.600
8,900 80% | :10,400
8.900 80% | X:10.400, H:9.400
9,600 78% | H:11.100
ERER 8,700 80% | 4:12.100, £:9.000
10,600 | 76% | X:13.600
8.900 80% | X:13.600
8,900 80% | :13,100
11600 | 73% |X:13600. £:10.800, H:12.600
8,900 80% | X:13,600, H:9.900
8.900 80% | X:13.100, H:9.900
8,900 80% | X:13,100, H:9.900

JAL



TSR GIERER(10A1~4BEESD) AL

EW#EMAA : 2018/06/21 ~

10/1-4
Fi ==
37 @5 | BAM [—— e PR
i’ B | gyziw w5
R CABR)=XR () | RRCHE) % 7.300 7%
1400 | 59%
200 | 56%
800 | 57% 300
800 | 57% .700
300 | 59% 200
300 | 59% 800
9.300 63% .800
9300 63% .800
000 | 56%
.500 2 200
500 200
.500 2 900
500 .900
500 3 .900
KB (5 % .000 56
.500 s
500
500
.800
800 3
800
800 3
800
800 3
200 |60
200 | 60%
J .700 4%
J .700 4%
J 700 | 54%
BE=ALIR (FT TR [EEE N N 4.200 5%
JL: 9.800 83%
FLIR (7 F %) 59l 9.800 83%
Ji 4200 | 75%
FR(CRE)=ME RRPE)F [ J .300 52%
J .900 | 50%
[ J .800 | 61%
J 500 | 55%
HER J .600 47%
J 700 | 61%
[ J .300 | 52%
J 300 | 55%
FR(CRE)=X5 RRPE)F [ J 9.000 77%
800 | 70% |H:11.600
B 600 | 71% | H:11.400
B 600 | 71% 12.200
B 400 | 71% | H:12.000
B 000 | 70% 600
K55 B 000 | 70% | X:11.800
B 400 | 71% [ J:11.200
B 600 | 71% |H:11.800
B 400 | 71% |H:11.600
B 000 | 72%
B 800 | 73%
RRCHE)-RE | R (AE) % E 200 | 70% 600 7K:10.800. 4
B 800 | 71
B 800 | 71%
B 800 | 71
B 600 | 71%
B 600 | 71
R B 600 71%
B 600 | 71 .
B 200 | 72% 600, 7K:12.100
B 800 | 71
B 800 | 71% 600
B 800 | 73 .000
R (PA)=f RERCRE) % B .600 74 .900
B 000 |71 100
B 200 | 70% :12.000
B 200 | 70% :12.000
B 1200 | 70% :12.000
B 000 | 71%
B 000 [ 71% [/:13.600, 7:12.600
B 3,300 68% [ 4:12,000, 7K:12,200, :12,600
AR B 2100 [ 71% [A:13.100, 4:12.600
B 3600 | 67% [JIK:13,100
B 3.600 | 67% 7k:13.100
B 2,600 | 69% 13,600, 7K:12,000
B 2.600 | 69% 13.600. 7K:12.000
B 2,200 | 70% 13,200, X:12,000
B 2.200 | 70% 13.200. K:12.000
B 7,600 82% | 4:5,800, 7k:6.000
RRE(CRR)=515 RERCPE) % B 9.800 76%
B 2,000 | 71%
B 3100 [ 68% |X:11.800, 7K:12.000
B 3,100 68% | H:13,600. 7K:12.600
B 2.200 [ 70% [/:13.600, :12.600
B 3100 | 68% [JK:12,200
EEES B 2,600 | 69% [A:12.800, K:12.200
B 2200 [ 70% [X7K:12,000
B 2.000 | 71%
B 2200 | 70% [F:13.600
B 2200 | 70% [7kX:12.000
B 1,000 [ 73% [X:10,800
KR (57 =H&F KB (75 % B 9.800 76%
B 9,800 76% | :11.400
B 9.800 76%
3 B 9,800 76% |FH:10,900
B 9.800 76%
JL2158 | 758 9,800 76%




TS5 RBEER(10AI~18ARES)

EREEAA : 2018/06/21 ~
10/9-18
Fi ===
P B2 | mAm IIESEF
R EEH
HRCRB)=XR () | RRCAE) % L101 | 7 7.300
JL103 | 7 .400
L107 | 7 200
JL 7 800
L 7 800
JL 7 300
L 7 300
7 9.300
7 9.300
7 .000
7 500 7
7 500
7 500 7
7 500
L139 | 7 500 3
ENACGZES L102 | 7 .000 56
Li04 | 7 500 s
Li06 | 7 500
Li10 | 7 500
L 7 800
L 7 800 3
L 7 800
L 7 800 3
Li20 | 7 800
Li24 | 7 800 3
Li26 | 7 .200
Li2g | 7 200
Li30 | 7 .00
Li34 | 7 700 3
Li38 | 7 700
FR(CRE)=ME HR(PE) R Li61 | 7 .300 b
Li63 | 7 .900 |50
L165 | 7 800 | 61%
Li67 | 7 500 | 55% 3.600, £ H:9.700
ERE Li62 | 7 600 | 47% 4,700, £ H:9.700
Li64 | 7 700 | 61% 2400, £ H:9.700
[ JLi66 | 7 300 | 52%
Li68 | 7 300 | 55% |4
FR(CRE)=K5 R (PE)F [_JL66T | 7 9.000 77 K
L663 | 7 .600
[ JL665 | 7 1400
[ JL667 | 7 600 i)
[ JL669 | 7 000 | 70% [JKA:
JL671_| 75 600 | 68% | JKoA: :
K% JL662 | 758 000 | _70% 13.100. H:11.800
JL664 | 758 400 | 71% |%:12.500. %:12.900. H:11.200
JL668 | 75H 800 | 70% [JKA
JL670 | 75H 600 | 71% [ JKA
JL672_| 75H 200 | 72% [%: 500
JL674_| 75H 000 | 72% |&
RR CHE)=HE R CRE) % |_JL623 | 75H 600 | 74% | K10, 12,600
JL625 | 75H 000 | 71% |2, ,300. £:13.600, H:11.800
JL627_| 75H 200 | 70% |13
JL629 | 75H 200 | 70% |13,
JL 758 200 | 70% |13
JL 758 000 | 71% |13,
JL 758 600 | 67% |kl :13.100
JL 756 200 | 70% | H:13. 112600, £:13.800. H:14.300
AR JL622 | 75H 100 | 68% [JK:12. 600, H:12.200
JL624_| 75H 600 7% K13,
JL626 | 75H 600 7% | K13,
JL628 | 75H 600 7% K12
JL630_| 75H 600 7% | K12, 13,100
JL632_| 75H 200 |70 . :13.300. B:13.800
JL634_| 75H 200 | 70% [H :13.700, £:13.300. H:13,800
JL638 | 75H 8.500 79% | k6. 100, +:7.500. H:9.000
RRCHE) =R R CRE) % |_JL687 | 75H 9.800 76% X 2,000
JL689 | 758 000 | 71% |13, 2.200
JL69T | 75H 100 | 68% [ J:13. 12,000
JL693 | 758 600 | 67% |JK:12. . £:13.300. £:12.000. H:13.700
JL695 | 75H 600 | 67% [JK:12. 600, H:13.800
JL697_| 75H 100 | 68% |13, 200, %:13.300, H:14.300
S JL688 | 75H 300 | 68% | H:12. 600 £:13.800, H:12.200
JL690_| 75H 2200 | 70% [k £:13.100, :13,300, H:12.600
JL692_| 75H 2000 | 71% |13, 00, B
JL694_| 75H 3600 | 67% |JKA :12,600, H:13.700
JL696_| 75H 2000 | 71% [A
JL698 | 75H 1.200 | 73% | k& /
RRCAB)=ERE | ®RCAE) X [ JLedi | 758 8.900 80% | :10.400, +:9.900
JL643 | 75H 8,900 80% | :10,400, £:9.900
JL645 | 75H 8.900 80% | :10.400, +:9.900
JL647_| 75H 8,900 80% | :13,600
JL649 | 75H 8.900 80% | X:13.600
JL651_| 75H 8,900 80% | :10,400
JL653 | 75H 8.900 80% | :10.400, H:9.400
JL655 | 75H 9,600 78% | :10,800, £:10,600. H:11,100
BRE&% | _JL640 | 158 8.700 80% | X:11.900, +:8.800
JL642_| 75H 10,600 | 76% |X:14.100
JL644_| 75H 8.900 80% | X:14.100
JL646 | 75H 8,900 80% | :13,600
JL648 | 75H 11600 | 73% |X:13600. £:10.800, H:12.600
JL650 | 75H 8,900 80% | :13,600, H:9.900
JL652_| 75H 8.900 80% | X:13.100, H:9.900
JL654 | 75H 8,900 80% | :13,100, H:9.900

JAL



TS5 RBIEER(10A19~27HEESD)

EREEAA : 2018/06/21 ~
10/19-27
Fi =iz
P B2 | mAm IIESEF
i’ EEA
HRCRB)=XR () | RRCAE) % L101 | 7 7.300
JL103 | 7 .400
L107 | 7 .200
JL 7 .800
L 7 800
JL 7 .300
L 7 300
7 9.300
7 9300
7 .000
7 500 2
7 500
7 500 2
7 500
L139 | 7 500 s
ENACGZES L102 | 7 .000 56
Li04 | 7 .500 o
L106 | 7 500
Li10 | 7 500
L 7 .800
L 7 .800 o
L 7 800
L 7 .800 o
L120 | 7 800
Li24 | 7 800 o
L126 | 7 .200
Li28 | 7 .200
L130 | 7 .700
Li34 | 7 .700 3
L138 | 7 .700
FR(CRE)=ME HR(PE) R Li61 | 7 .300 b
L163 | 7 .900 |50
L165 | 7 800 | 61%
L167 | 7 500 | 55% 3.600. = H:9.700
WER L162 | 7 600 7% 4700, £ H:9.700
Li64 | 7 .700 1 2.400. £ H:9.700
| JL166 | 7 300 2 :9.700
L168 | 7 700 4 :9.700
FR(CRE)=K5 R (PE)F [_JL66T | 7 9.000 7! £:11.200
1663 | 7 800 | 70 111,600, &
| JL665 | 7 600 1%
|_JL667 | 7 600 1%
| JL669 | 7 1400 1%
JL671 | 75 000 | 70%
K55 JL662 | 758 000 | 70%
JL664 | 758 400 | 71%
JL668 | 758 600 | 71%
JL670 | 758 400 | 71% [A4
JL672 | 758 000 | 72%
JL674 | 758 800 | 73%
R CRE)=RE R CFIE) % |_JL605 | 758 800 | 75% £:13,400, H:11,900
JL607 | 758 200 | 74
JL609 | 758 800 | 71%
JL611_| 758 800 | 71
JL613 | 758 600 | 71%
JL615 | 758 600 | 71
RIER JL606 | 758 600 | 71%
JL608 | 758 600 | 71
JL610 | 758 200 | 72%
JL612 | 758 800 | 71
JL614 | 758 800 | 71%
JL616 | 758 800 | 73
R (PA)=f RRER(CPE)F | _JL623 | 758 .600 74
JL625 | 758 000 |71
JL627 | 758 200 | 70%
JL629 | 758 200 | 70%
JLi 756 1200 | 70%
JL 756 000 [ 71% ]
JLi 756 600 | 67% [Xk:12.000. A:12.600, £:13.100
JL 756 200 | 70% 3.300. 12,000, A:12.600. £:13.800, H:14.300
AR JL622 | 758 .100 | 68% [Aok:12.100, %:12.600, +:13.600. H:12.200
JL624 | 758 600 | 67% | sk:13.100
JL626 | 758 600 | 67% 7K:13.100
JL628 | 75H 2,600 69% 13,600, 7K:12,000, %:13,100
JL630 | 758 2.600 | 69% H:13.600, 7K:12.000. %:13.100
JL632 | 758 2,200 | 70% 13,200, X:12.000, £:13,300, H:13.800
JL634 | 758 2.200 | 70% 13,200, 12,000, %:13.300, H:13.800
JL638 | 75H 7,600 82% [ A:5800, 7K:6,000, 8,200, +:6,600, H:8,100
R CRE)=2h W CRIE) % |_JL687 | 758 9.800 76% 12.000
JL689 | 758 2,000 | 71% 12,200
JL691 | 758 3.100 | 68% |X:11.800. KE:12.000
JL693 | 758 3100 | 68% 3,600, JK: 3300, £:12,000. B:13.700
JL695 | 758 3600 | 67% [X7k:12.200. A& +:12.600, H:13.800
JL697 | 758 2200 | 70% [BA:13,100, . B:14,300
EEES JL688 | 758 2200 | 70% |H:12.800. k. . £:13,300, 1:13.800
JL690 | 758 2200 [ 70% [%7K:12,000. £:13,300, H:12.600
JL692 | 758 2000 [ 71% [£:12600, +:12.200, B:13.
JL694 | 758 2200 [ 70% [A:13600, £:12,800, +:12,600. H:13.700
JL696 | 758 2,000 | 71% [AX:12.200. #:12.800, B:13.700
JL698 | 758 1,000 [ 73% [X:10,800. £ +:11,600, H:12,500
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